Julie Wilson and Jessica Goddard

Cannonball Project Work:
Factors given:

Vi = 20 m/s

Initial position: 0m in the x-axis, 2m in the y-axis

Degree of launch angle: 65o

Position of the center of the net: 70m in the x-axis, and 2m in the y-axis

Initial Velocities in X and Y:

       X:

Vx = Vi * cos(angle)

Vx = 20m/s *cos(65o)

Vx = 8.452m/s
       Y:

VI,y = Vi * sin(angle)

VI,y = 20m/s *sin(65o)

VI,y = 18.126m/s
How long does it take for the clown to hit the net?:

Vx =     x/    t 

8.4523m/s = 70m/t

t = 70m/8.4523m/s

t = 8.282s
Where should the hoop be placed on the x-axis?:

PlacementH = 70m/2

PlacementH= 35m
How high should the center of the hoop be?:
YF = Yi*(0.5 t) + Vi,y*t  + 0.5 (a)*(0.5 t)2          YF = height, a= acceleration due to gravity
YF = (2m)*(0.5 *8.2817s) + (18.1261m/s)*(8.2817s) + 0.5(-9.8m/s2)*(0.5*8.2817s)2

YF = 74.378m
